RETAN 2RAEN BEARBOBR EE o1

1. RXRO2XGEADBEOMERD L. (SH10%, A 15#, Bik25#, C#k14)

(1) 24+x—-2=0 (2) 22 —5x4+2=0

3) 202 +4x —7=0 (4) 622 —9x+2=0

2. XDO2XGTBEADMOMZRD L. (SHK108, Ak15#, Bik25®, C#k17)

(1) 242:+3=0 (2) 22 —Te+4=0

(3) 222413z+10=0 (4) 922+1lz—6=0
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3. RD2XGEAOBOMERD L. (S0, A 15, Bik2s®, C#14)

(1) 22 —3x—1=0 (2) 22 +6x+4=0

(3) 422+ 14x+7=0 (4) 1822 — 122 —7=0

4. RO 2XSTHEADBEOEZRD K. (SHk10#, Atk15%, B 258, Ck1r)

(1) 22—42x-9=0 (2) 224+ 17x+5=0

(3) 1202+ 52 —15=0 (4) 2472 + 132 —-30=0
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1. RXRO2XGEADBEOMERD L. (SH10%, A 15#, Bik25#, C#k14)
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2. XDO2XRGBADOMOMZRD L. (SHH10F, Ak15#, B2, C#hk17)
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(1) 22 42x43=0 (2) 22 —Tx+4=0

(3) 222413z +10=0 (4) 922

+ 11z —6=0
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3.

4.

KD 2XGFEROBOMERD K. (SH10F, AR5, BFK25F, C#H14)

(1) 22 —3x—1=0

(3) 472 + 14z +7=0
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22 +6x+4=0
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RD 2RO Z RO K. (SHK10F, Afh158, B2 #, CH14)

(1) 22 —4x—9=0

(3) 1202+ 52 —15=0
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22+ 17 +5=0

2472 + 132 —30=0
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